Whitman College

Econ 308

Exam 3

April 1, 2005

Write all answers in your bluebook.  Show all of your work.  The exam ends at 10:50.

1.  (a)  (3pts)  List the three functions of money.

(b)   (2pts)  Define the monetary aggregate known as M1.  

2. (a) (10pts) List the assumptions of the Quantity Theory of Money.

Consider a country where labor productivity grows at an average annual rate of 1.5%, and the size of the labor force grows at an average annual rate of 1.0%.  Suppose that the Quantity Theory of Money holds. Suppose also that the Solow Growth Model holds, and that this country is in its steady state.  

(b)  (10pts)  If policy-makers have price-level stability as their goal, at what average annual rate will they let the money supply rise?  Explain your answer.

(c)  (5pts)  If the average annual money supply growth rate is zero, what will happen on average to prices in this economy?  Be as explicit as possible.

3.  Countries with higher levels of inflation uncertainty typically have lower growth levels for real Gross Domestic Product (GDP).  Economic studies suggest that high inflation uncertainty reduces the growth of real GDP because it reduces the quality and quantity of investment.

(a)  (3pts)  Define investment.

(b)  (12pts)  Consider the March 1 inflation uncertainty experiment.  Explain why higher inflation uncertainty reduced the quality of investment projects undertaken in the experiment.  

4.  (a) (2pts) Define the Federal Funds Rate (FFR). 


(b) (3pts) Describe what action the Federal Reserve takes when it wants to lower the FFR. 

(c)  (10pts)  With reference to a well-labeled supply and demand diagram for the Federal Funds Market, explain why the FFR falls in response to the Fed’s action.  Be sure to explain what causes any shifting of the curves in your diagram.  

5.  (10pts)  Suppose that you wanted to use Purchasing Power Parity to predict what the exchange rate between the British pound and the U.S. dollar will be one year from now.  Explain what information you would need to know, and describe how you would use this information to make your forecast.  

6.  Consider the Keynesian cross model in which aggregate planned consumption expenditures, C, are equal to 500 + 0.75(Y-T), where Y is real aggregate output, and T=220 is taxes.  Planned investment expenditures, I, equal 600.  Planned government expenditures, G, equal 250.  

(a)  (5pts)  What is the equilibrium aggregate output, Y?

(b)  (5pts)  What would happen to Y if the savings rate fell to 0.2?  Be explicit in your answer.

(c)  (5pts)  If the natural rate of output for this economy is 5930, would the lower savings rate described in Part (b) be good or bad for this economy in the short term?  Explain your answer.

(d)  (5pts)  What sort of information would you need to know to determine whether the lower savings rate described in Part (b) is good or bad for this economy in the long term?

 (e)  (5pts) Suppose now that the natural rate of output for this economy is 4920, and the savings rate is 0.25.  If the government wanted to use tax policy to return the economy to the natural rate of output, what level would it choose for taxes?  

7.  (5pts)  According to John Maynard Keynes, what typically caused recessions?

